
 

                              V.GNANAMURUGAN, P.G.T., G.H.S.S., S.S.KOTTAI, SIVAGANGAI DT  : 94874 43870  Page 1 
 

1. fzq;fs;, njhlh;Gfs; kw;Wk; rhh;Gfs; 

1. 𝐴 = {(𝑥, 𝑦): 𝑦 = 𝑒𝑥, 𝑥 ∈ 𝑅} kw;Wk; 𝐵 = {(𝑥, 𝑦): 𝑦 = 𝑒−𝑥, 𝑥 ∈ 𝑅} vdpy;, 𝑛(𝐴 ∩ 𝐵) vd;gJ 

  1) ∞   2) 0    3) 1    4) 2 

2. 𝐴 = {(𝑥, 𝑦): 𝑦 = sin 𝑥 , 𝑥 ∈ 𝑅} kw;Wk; 𝐵 = {(𝑥, 𝑦): 𝑦 = cos 𝑥 , 𝑥 ∈ 𝑅} vdpy;, 𝐴 ∩ 𝐵-y; 
  1) cWg;Gfspy;iy    2) vz;zpylq;fh cWg;Gfs; cs;sd 
  3) xNu xU cWg;G cs;sJ  4) jPh;khdpf;f ,ayhJ 

3. 𝐴 = {0, −1,1,2} vDk; fzj;jpy; |𝑥2 + 𝑦2| ≤ 2 vDkhW 𝑥𝑅𝑦 Mf tiuaWf;fg;gl;l njhlh;G R    

vdpy;, fPo;f;fz;ltw;wpy; vJ rhpahdJ? 

  1) 𝑅 = {(0,0), (0, −1), (0,1), (−1,0), (−1,1), (1,2), (1,0)} 

  2) 𝑅−1 = {(0,0), (0, −1), (0,1), (−1,0), (1,0)} 

  3) R- d; rhh;gfk; {0, −1,1,2}  

  4) R- d; tPr;rfk; {0, −1,1} 

4. 𝑓(𝑥) = |𝑥 − 2| + |𝑥 + 2|, 𝑥 ∈ 𝑅 vdpy;, 

  1) 𝑓(𝑥) =  

−2𝑥 ; 𝑥 ∈ (−∞, −2]
4 ; 𝑥 ∈ (−2,2]
2𝑥 ; 𝑥 ∈ (2, ∞)

    2) 𝑓(𝑥) =  

2𝑥 ; 𝑥 ∈ (−∞, −2]
4 ; 𝑥 ∈ (−2,2]

−2𝑥 ; 𝑥 ∈ (2, ∞)
 

  3) 𝑓(𝑥) =  

−2𝑥 ; 𝑥 ∈ (−∞, −2]
−4 ; 𝑥 ∈ (−2,2]
2𝑥 ; 𝑥 ∈ (2, ∞)

     4) 𝑓(𝑥) =  

−2𝑥 ; 𝑥 ∈ (−∞, −2]
2 ; 𝑥 ∈ (−2,2]
2𝑥 ; 𝑥 ∈ (2, ∞)

 

5. R nka;naz;fspd; fzk; vd;f. 𝑅 × 𝑅–y; fPo;f;fz;l cl;fzq;fisf; fUJf. 

  𝑆 = {(𝑥, 𝑦): 𝑦 = 𝑥 + 1 kw;Wk; 0 < 𝑥 < 2} ; 𝑇 = {(𝑥, 𝑦): 𝑥 − 𝑦 ∈ 𝑧} vdpy; fPo;f;fhZk; $w;wpy; vJ 
nka;ahdJ?  

1) T rkhdj; njhlh;G Mdhy;, S rkhdj; njhlh;G my;y. 

2) S, T ,uz;LNk rkhdj; njhlh;G my;y. 

3) S, T ,uz;LNk rkhdj; njhlh;G. 

4) S rkhdj; njhlh;G Mdhy;, T rkhdj; njhlh;G my;y. 

6. ,ay; vz;fspd; midj;Jf;fzk; N-f;F A kw;Wk; B cl;fzq;fs; vdpy; 𝐴′ ∪ [(𝐴 ∩ 𝐵) ∪ 𝐵′] 
vd;gJ  

  1) A    2) 𝐴′     3) B     4) N 
7. fzpjk; kw;Wk; Ntjpapay; ,uz;Lk; ghlq;fshf Vw;w khzth;fspd; vz;zpf;if 70. ,J 

fzpjj;ij Vw;wth;fspd; 10% kw;Wk; Ntjpapay; Vw;wth;fspd; 14% MFk;. ,tw;wpy; 
Vjhtnjhd;iwg; ghlkhf vw;w khzth;fspd; vz;zpf;if 

  1) 1120   2) 1130   3) 1100  4) NghJkhd jfty; ,y;iy. 

8. 𝑛[(𝐴 × 𝐵) ∩ (𝐴 × 𝐶)] = 8 kw;Wk; 𝑛(𝐵 ∩ 𝐶) = 2 vdpy;, 𝑛(𝐴) vd;gJ 
  1) 6   2) 4    3) 8   4) 16 

9. 𝑛(𝐴) = 2 kw;Wk; 𝑛(𝐵 ∪ 𝐶) = 3, vdpy; 𝑛[(𝐴 × 𝐵) ∪ (𝐴 × 𝐶)] vd;gJ 

  1) 23   2) 32    3) 6   4) 5 

10. A kw;Wk; B vDk; ,U fzq;fspy; 17 cWg;Gfs; nghJthdit vdpy;, 𝐴 × 𝐵 kw;Wk; 𝐵 × 𝐴 
Mfpa fzq;fspy; cs;s nghJ cWg;Gfspd; vz;zpf;if 

  1) 217    2) 172    3) 34   4) NghJkhd jfty; ,y;iy. 

11. ntw;ww;w fzq;fs; A kw;Wk; B vd;f. 𝐴ϲ𝐵 vdpy; (𝐴 × 𝐵) ∩ (𝐵 × 𝐴) = 

  1) 𝐴 ∩ 𝐵   2) 𝐴 × 𝐴   3) 𝐵 × 𝐵   4) ,tw;Ws; vJTk; ,y;iy. 
12. 3 cWg;Gfs; nfhz;l fzj;jpd; kPjhd njhlh;Gfspd; vz;zpf;if 
  1) 9    2) 81    3) 512   4) 1024 

13. xd;Wf;F Nkw;gl;l cWg;Gfisf; nfhz;l fzk; X- d; kPjhd midj;Jj;njhlh;G R vdpy; R 
vd;gJ 

  1) jw;Rl;Lj; njhlh;G my;y 2) rkr;rPh; njhlh;gy;y 3) flg;Gj; njhlh;G 4) ,tw;Ws; vJTkd;W 

14. 𝑋 = {1,2,3,4} kw;Wk; 𝑅 = {(1,1), (1,2), (1,3), (2,2), (3,3), (2,1), (3,1), (1,4), (4,1)} vdpy; R vd;gJ 
  1) jw;Rl;Lj; njhlh;G  2) rkr;rPh; njhlh;G  3) flg;Gj; njhlh;G  4) rkhdj; njhlh;G 

15. 
1

1−2 sin 𝑥
 vd;w rhh;gpd; tPr;rfk; 

  1) (−∞, −1) ∪ (
1

3
, ∞)  2) (−1,

1

3
)   3) [−1,

1

3
]   4) (−∞, −1) ∪ [

1

3
, ∞)  

www.Padasalai.Net                                                   www.TrbTnpsc.com

http://www.trbtnpsc.com/2018/07/latest-plus-one-11th-standard-tamil-medium-study-materials-download.html

www.Padasalai.Net



 

                              V.GNANAMURUGAN, P.G.T., G.H.S.S., S.S.KOTTAI, SIVAGANGAI DT  : 94874 43870  Page 2 
 

16. 𝑓(𝑥) =  |⌊𝑥⌋ − 𝑥|, 𝑥 ∈ 𝑅 vd;w rhh;gpd; tPr;rfk; 

  1) [0,1]    2) [0, ∞)    3) [0,1)    4) (0,1) 

17. 𝑓(𝑥) = 𝑥2 vd;w rhh;G ,UGwr; rhh;ghf mika Ntz;Lnkdpy; mjd; rhh;gfKk;, 
Jizr;rhh;gfKk; KiwNa 

  1) 𝑅, 𝑅    2) 𝑅, (0, ∞)   3) (0, ∞), 𝑅   4) [0, ∞), [0, ∞)  

18. m cWg;Gfs; nfhz;l xU fzj;jpypUe;J n cWg;Gfs; nfhz;l xU fzj;jpw;F 
tiuaWf;fg;gLk; khwpypr; rhh;Gfspd; vz;zpf;if 

  1) mn    2) m     3) n     4) m+n 

19. 𝑓: [0,2𝜋] → [−1,1] vd;w rhh;G 𝑓(𝑥) = sin 𝑥 vd tiuaWf;fg;gLfpwJ vdpy;, mJ 

     1)  xd;Wf;nfhd;W  2) Nkw;Nfhh;j;jy;   3) ,UGwr; rhh;G   4) tiuaWf;f ,ayhJ  

20. 𝑓: [−3,3] → 𝑆 vd;w rhh;G 𝑓(𝑥) = 𝑥2 vd tiuaWf;fg;gl;L Nkw;Nfhh;j;jy; vdpy;, S vd;gJ 

  1) [−9,9]   2) 𝑅     3) [−3,3]    4) [0,9]  

21. 𝑋 = {1,2,3,4}, 𝑌 = {𝑎, 𝑏, 𝑐, 𝑑} kw;Wk; 𝑓 = {(1, 𝑎), (4, 𝑏), (2, 𝑐), (3, 𝑑), (2, 𝑑)} vdpy; f vd;gJ 
  1) xd;Wf;nfhd;whdr; rhh;G 2) Nkw;Nfhh;j;jy; rhh;G 3) xd;Wf;nfhd;W my;yhj rhh;G 4) rhh;gd;W 

22. 𝑓(𝑥) =  

𝑥    ; 𝑥 < 1

𝑥2   ; 1 ≤ 𝑥 ≤ 4

8√𝑥   ; 𝑥 > 4

 vdpy;       

  1) 𝑓−1(𝑥) =  

𝑥    ; 𝑥 < 1

√𝑥   ; 1 ≤ 𝑥 ≤ 16
𝑥2

64
   ; 𝑥 > 16

     2) 𝑓−1(𝑥) =  

−𝑥    ; 𝑥 < 1

√𝑥   ; 1 ≤ 𝑥 ≤ 16
𝑥2

64
   ; 𝑥 > 16

  

  3) 𝑓−1(𝑥) =  

𝑥2    ; 𝑥 < 1

√𝑥   ; 1 ≤ 𝑥 ≤ 16
𝑥2

64
   ; 𝑥 > 16

     4) 𝑓−1(𝑥) =  

2𝑥    ; 𝑥 < 1

√𝑥   ; 1 ≤ 𝑥 ≤ 16
𝑥2

8
   ; 𝑥 > 16

 

23. 𝑓: 𝑅 → 𝑅-y; rhh;G 𝑓(𝑥) = 1 − |𝑥| vd tiuaWf;fg;gLfpwJ vdpy;,  f- d; tPr;rfk; 

  1) 𝑅    2) (1, ∞)    3) (−1, ∞)   4) (−∞, 1] 

24. 𝑓: 𝑅 → 𝑅-y; 𝑓(𝑥) =  sin 𝑥 + cos 𝑥 vdpy;,  f MdJ 
  1) xU xw;iwg;gilr; rhh;G    2) xw;iwg;gilAky;y ,ul;ilg;gilAky;y 
  3) xU ,ul;ilg;gilr; rhh;G    4) xw;iwg;gil kw;Wk; ,ul;ilg;gilr; rhh;G 

25. 𝑓: 𝑅 → 𝑅-y; 𝑓(𝑥) =
(𝑥2+cos 𝑥)(1+𝑥4)

(𝑥−sin 𝑥)(2𝑥−𝑥3)
+ 𝑒−|𝑥| vdpy;,  f 

  1) xU xw;iwg;gilr; rhh;G    2) xw;iwg;gilAky;y ,ul;ilg;gilAky;y 
  3) xU ,ul;ilg;gilr; rhh;G    4) xw;iwg;gil kw;Wk; ,ul;ilg;gilr; rhh;G 
tpilfs; : 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 
3 2 4 1 1 4 2 2 3 2 2 3 3 2 4 3 4 3 2 4 4 1 4 2 3 

2. mbg;gil ,aw;fzpjk; 
1. |𝑥 + 2| ≤ 9 vdpy;, x mikAk; ,ilntsp 

  1) (−∞, −7)   2) [−11,7]   3) (−∞, −7) ∪ [11, ∞)  4) (−11,7)  

2. x,y kw;Wk; b Mfpait nka;naz;fs; kw;Wk; 𝑥 < 𝑦, 𝑏 > 0 vdpy;, 

     1) 𝑥𝑏 < 𝑦𝑏   2) 𝑥𝑏 > 𝑦𝑏    3) 𝑥𝑏 ≤ 𝑦𝑏       4) 
𝑥

𝑏
≥

𝑦

𝑏
 

3. 
|𝑥−2|

𝑥−2
≥ 0 vdpy;, x mikAk; ,ilntsp 

  1) [2, ∞)   2) (2, ∞)    3) (−∞, 2)   4) (−2, ∞) 

4. 5𝑥 − 1 < 24 kw;Wk; 5𝑥 + 1 > −24 vd;w mrkd;ghLfspd; jPh;T 

  1) (4,5)    2) (−5, −4)    3) (−5,5)    4) (−5,4) 

5. |𝑥 − 1| ≥ |𝑥 − 3| vd;w mrkd;ghl;bd; jPh;Tf;fzk; 

  1) [0,2]    2) (2, ∞)    3) (0,2)    4) (−∞, 2) 

6. log√2 512 –d; kjpg;G 

  1) 16    2) 18    3) 9     4) 12 

7. log3
1

81
 –d; kjpg;G 

  1) -2    2) -8     3) -4     4) -9 
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8. log√𝑥 0.25 = 4 vdpy;, x–d; kjpg;G 

  1) 0.5    2) 2.5    3) 1.5    4) 1.25 

9. log𝑎 𝑏 log𝑏 𝑐 log𝑐 𝑎 –d; kjpg;G 
  1) 2    2) 1     3) 3     4) 4 

10. 343-d; klf;if 3 vdpy;, mjd; mbkhdk; 
  1) 5    2) 7     3) 6     4) 9 

11. 2𝑥2 + (𝑎 − 3)𝑥 + 3𝑎 − 5 = 0 vd;w rkd;ghl;bd; %yq;fspd; $Ljy; kw;Wk; ngUf;fy;gyd; 

Mfpait rkk; vdpy;, a-d; kjpg;G 
  1) 1    2) 2     3) 0     4) 4 

12. 𝑥2 − 𝑘𝑥 + 16 = 0 vd;w rkd;ghl;bd; %yq;fs; a kw;Wk; b Mfpait 𝑎2 + 𝑏2 = 32-I epiwT 

nra;Ak; vdpy;, k-d; kjpg;G 

  1) 10    2) -8     3) -8,8    4) 6  

13. 𝑥2 + |𝑥 − 1| = 1-d; jPh;Tfspd; vz;zpf;if 
  1)1    2) 0     3) 2     4) 3 

14. 3𝑥2 − 5𝑥 − 7 = 0-d; %yq;fSf;F vz;zstpy; rkkhfTk;, vjph; FwpaPLfisAk; cila 
%yq;fisf; nfhz;l rkd;ghL 

  1) 3𝑥2 − 5𝑥 − 7 = 0  2) 3𝑥2 + 5𝑥 − 7 = 0  3) 3𝑥2 − 5𝑥 + 7 = 0  4) 3𝑥2 + 𝑥 − 7 = 0 

15. 𝑥2 + 𝑎𝑥 + 𝑐 = 0 –d; %yq;fs; 8 kw;Wk; 2 MFk;. NkYk;, 𝑥2 + 𝑑𝑥 + 𝑏 = 0 –d; %yq;fs; 3,3 

vdpy;, 𝑥2 + 𝑎𝑥 + 𝑏 = 0–d; %yq;fs;  

  1) 1,2    2) −1,1    3) 9,1    4) −1,2 

16. 𝑥2 − 𝑘𝑥 + 𝑐 = 0 –d; nka; %yq;fs; a,b vdpy;, (a,0) kw;Wk; (b,0)-f;F ,ilg;gl;l J}uk; 

  1) √𝑘2 − 4𝑐    2) √4𝑘2 − 𝑐   3) √4𝑐 − 𝑘2   4) √𝑘 − 8𝑐 

17. 
𝑘𝑥

(𝑥+2)(𝑥−1)
=

2

𝑥+2
+

1

𝑥−1
 vdpy;, k-d; kjpg;G 

  1) 1    2) 2     3) 3     4) 4 

18. 
1−2𝑥

3+2𝑥−𝑥2
=

𝐴

3−𝑥
+

𝐵

𝑥+1
 vdpy;, 𝐴 + 𝐵-d; kjpg;G 

  1) 
−1

2
    2) 

−2

3
    3) 

1

2
     4) 

2

3
  

19. (𝑥 + 3)4 + (𝑥 + 5)4 = 16 -d; %yq;fspd; vz;zpf;if 
  1) 4    2) 2     3) 3     4) 0 

20. log3 11 log11 13 log13 15 log15 27 log27 81-d; kjpg;G 
  1) 1    2) 2     3) 3     4) 4 
tpilfs;: 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 
2 1 1 3 2 2 3 1 2 2 2 3 3 2 3 1 3 1 1 4 

3. Kf;Nfhztpay; 

1. 
1

cos 800
−

√3

sin 800
= 

  1) √2    2) √3    3) 2     4) 4 

2. cos 280 + sin 280 = 𝑘3 vdpy;, cos 170 ,d; kjpg;G 

  1) 
𝑘3

√2
    2) − 

𝑘3

√2
    3) ± 

𝑘3

√2
    4) − 

𝑘3

√3
 

3. 4𝑠𝑖𝑛2𝑥 + 3𝑐𝑜𝑠2𝑥 + sin
𝑥

2
+ cos

𝑥

2
 ,d; kPg;ngU kjpg;G 

  1) 4 + √2   2) 3 + √2    3) 9     4) 4 

4. (1 + cos
𝜋

8
) (1 + cos

3𝜋

8
) (1 + cos

5𝜋

8
) (1 + cos

7𝜋

8
) = 

  1) 
1

8
    2) 

1

2
     3) 

1

√3
    4) 

1

√2
  

5. 𝜋 < 2𝜃 <
3𝜋

2
 vdpy;, √2 + √2 + 2 cos 4𝜃 ,d; kjpg;G 

  1)−2 cos 𝜃   2) −2 sin 𝜃    3) 2 cos 𝜃    4) 2 sin 𝜃  

6. tan 400 = 𝜆 vdpy;, 
tan 1400−tan 1300

1+tan 1400 tan 1300
= 

     1) 
1−𝜆2

𝜆
    2) 

1+𝜆2

𝜆
    3) 

1+𝜆2

2𝜆
    4) 

1−𝜆2

2𝜆
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7. cos 10 + cos 20 + cos 30 + ⋯ … . + cos 1790 = 

    1) 0    2) 1     3) -1     4) 89 

8. 𝑓4(𝑥) =
1

𝑘
[𝑠𝑖𝑛𝑘𝑥 + 𝑐𝑜𝑠𝑘𝑥] vd;f. ,q;F, 𝑥 ∈ 𝑅 kw;Wk; 𝑘 ≥ 1 vdpy;, 𝑓4(𝑥) − 𝑓6(𝑥) = 

    1) 
1

4
    2) 

1

12
     3) 

1

6
     4) 

1

3
 

9. gpd;tUtdtw;wpy; vJ rhpahdjy;y? 

  1) sin 𝜃 = −
3

4
   2) cos 𝜃 = −1   3) tan 𝜃 = 25   4) sec 𝜃 =

1

4 
 

10. cos 2𝜃 cos 2∅ + 𝑠𝑖𝑛2(𝜃 − ∅) − 𝑠𝑖𝑛2(𝜃 + ∅) ,d; kjpg;G 

  1) sin 2(𝜃 + ∅)  2) cos 2(𝜃 + ∅)   3) sin 2(𝜃 − ∅)   4) cos 2(𝜃 − ∅)  

11. 
sin(𝐴−𝐵)

cos 𝐴 cos 𝐵
+

sin(𝐵−𝐶)

cos 𝐵 cos 𝐶
+

sin(𝐶−𝐴)

cos 𝐶 cos 𝐴
= 

  1) sin 𝐴 + sin 𝐵 + sin 𝐶   2) 1    3) 0    4) cos 𝐴 + cos 𝐵 + cos 𝐶 

12. cos 𝑝𝜃 + cos 𝑞𝜃 = 0, 𝑝 ≠ 𝑞, 𝑛 VNjDk; xU KO vz; vdpy; 𝜃-tpd; kjpg;G 

  1) 
𝜋(3𝑛+1)

𝑝−𝑞
   2) 

𝜋(2𝑛+1)

𝑝±𝑞
    3) 

𝜋(𝑛+1)

𝑝±𝑞
    4) 

𝜋(𝑛+2)

𝑝+𝑞
 

13. 𝑥2 + 𝑎𝑥 + 𝑏 = 0 ,d; %yq;fs; tan 𝛼 kw;Wk; tan 𝛽 vdpy;, 
sin(𝛼+𝛽)

sin 𝛼 sin 𝛽
  ,d; kjpg;G  

  1) 
𝑏

𝑎
     2) 

𝑎

𝑏
     3) − 

𝑎

𝑏
    4) − 

𝑏

𝑎
  

14. ∆𝐴𝐵𝐶 ,y; 𝑠𝑖𝑛2𝐴 + 𝑠𝑖𝑛2𝐵 + 𝑠𝑖𝑛2𝐶 = 2 vdpy;, me;j Kf;NfhzkhdJ 
  1) rkgf;f Kf;Nfhzk;    2) ,U rkgf;f Kf;Nfhzk;  
  3) nrq;Nfhz Kf;Nfhzk;   4) mrkgf;f Kf;Nfhzk; 

15. 𝑓(𝜃) = |sin 𝜃| + |cos 𝜃|, 𝜃 ∈ 𝑅 vdpy;, 𝑓(𝜃) mikAk; ,ilntsp, 

  1) [0,2]    2) [1, √2]    3) [1,2]    4) [0,1] 

16. 
cos 6𝑥+6 cos 4𝑥+15 cos 2𝑥+10

cos 5𝑥+5 cos 3𝑥+10 cos 𝑥
= 

  1) cos 2𝑥   2) cos 𝑥    3) cos 3𝑥    4) 2 cos 𝑥 

17. khwhj Rw;wsT 12 kP nfhz;l Kf;Nfhzj;jpd; mjpfgl;r gug;gsthdJ,  

     1)  4kP gf;fj;jpidf; nfhz;l rkgf;f Kf;Nfhzkhf mikAk;. 

  2) 2kP, 5kP kw;Wk; 5kP gf;fq;fisf; nfhz;l ,U rkgf;f Kf;Nfhzkhf mikAk;. 

  3) 3kP, 4kP kw;Wk; 5kP gf;fq;fisf; nfhz;l xU Kf;Nfhzkhf mikAk;. 
  4) Kf;Nfhzk; mikahJ. 

18. xU rf;fukhdJ 2 Miuad;fs; mstpy; / tpfiyfs; Roy;fpwJ vdpy;, 10 KO Rw;W 
Rw;Wtjw;F vj;jid tpfiyfs; vLj;Jf; nfhs;Sk;? 

  1) 10𝜋 tpfiyfs;   2) 20𝜋 tpfiyfs;  3) 5𝜋 tpfiyfs;  4) 15𝜋 tpfiyfs;  

19. sin 𝛼 + cos 𝛼 = 𝑏 vdpy;, sin 2𝛼 ,d; kjpg;G 

 1) 𝑏 ≤ √2 vdpy;, 𝑏2 − 1 2) 𝑏 > √2 vdpy;, 𝑏2 − 1  3) 𝑏 ≥ 1 vdpy;, 𝑏2 − 1  4) 𝑏 ≥ √2 vdpy;, 𝑏2 − 1   

20. ∆𝐴𝐵𝐶 ,y; (𝑖) sin
𝐴

2
sin

𝐵

2
sin

𝐶

2
> 0  (𝑖𝑖) sin 𝐴 sin 𝐵 sin 𝐶 > 0  

 1) (i) kw;Wk; (ii) Mfpa ,uz;Lk; cz;ik  2) (i) kl;LNk cz;ik  

 3) (ii) kl;LNk cz;ik     4) (i) kw;Wk; (ii) Mfpa ,uz;Lk; cz;ikapy;iy. 
tpilfs;: 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 
4 1 1 1 4 4 1 2 4 2 3 2 3 3 2 4 1 1 1 1 

4. Nru;g;gpay; kw;Wk; fzpjj; njhFj;jwpjy; 

1. 2,4,5,7 Mfpa midj;J vz;fisAk; gad;gLj;jp cUthf;fg;gLk; ehd;F ,yf;f vz;fspy; 10-
MtJ ,lj;jpYs;s midj;J vz;fspd; $Ljy; 

  1) 432    2) 108    3) 36     4) 18 
2. xU Njh;tpy; 5 tha;g;GfisAila %d;W gy;tha;g;G tpdhf;fs; cs;sd. xU khztd; vy;yh 

tpdhf;fSf;Fk; rhpahf tpilaspf;fj; jtwpa topfspd; vz;zpf;if 
  1) 125    2) 124    3) 64    4) 63 

3. 30 khzth;fisf; nfhz;l tFg;gpy; fzpjj;jpy; KjyhtJ kw;Wk; ,uz;lhtJ, ,aw;gpaypy; 

KjyhtJ kw;Wk; ,uz;lhtJ, Ntjpapaypy; KjyhtJ kw;Wk; Mq;fpyj;jpy; KjyhtJ vd 
ghpRfis toq;Fk; nkhj;j topfspd; vz;zpf;if 
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  1) 304 × 292   2) 303 × 293   3) 302 × 294   4) 30 × 295 
4. vy;yhk; xw;iw vz;fshff; nfhz;l 5 ,yf;f vz;fspd; vz;zpf;if 

  1) 25    2) 55    3) 56     4) 625 

5. 3 tpuy;fspy;, 4 Nkhjpuq;fis mzpAk; topfspd; vz;zpf;if 

  1) 43 − 1   2) 34    3) 68    4) 64 

6. (𝑛 + 5)𝑃(𝑛+1) = (
11(𝑛−1)

2
)(𝑛 + 3)𝑃𝑛 vdpy;, n-d; kjpg;G 

  1) 7 kw;Wk; 11  2) 6 kw;Wk; 7   3) 2 kw;Wk; 11    4) 2 kw;Wk; 6  

7. mLj;jLj;j r kpif KO vz;fspd; ngUf;fw;gyd; vjdhy; tFgLk; 

  1) 𝑟!      2) (𝑟 − 1)!    3) (𝑟 + 1)!   4) 𝑟𝑟 
8. Fiwe;jgl;rk; xU ,yf;fk; kPz;Lk; tUkhW 5 ,yf;f njhiyNgrp vz;fspd; vz;zpf;if 
  1) 90000   2) 10000    3) 30240    4) 69760  

9. 𝑎2 − 𝑎𝐶2 = 𝑎2 − 𝑎𝐶4 vdpy; a-d; kjpg;G 
  1)2    2) 3     3) 4     4) 5  
10. xU jsj;jpy; 10 Gs;spfs; cs;sd. Mtw;wpy; 4 xNu Nfhliktd. VNjDk; ,U Gs;spfis 

,izj;J fpilf;Fk; NfhLfspd; vz;zpf;if 
  1) 45    2) 40    3) 39    4) 38  
11. xU tpohtpw;F 12 egh;fspy; 8 egh;fis xU ngz; miof;fpwhh;. ,jpy; ,Uth; xd;whf 

tpohtpw;F tukhl;lhh;fs; vdpy;, mth;fis miof;Fk; topfspd; vz;zpf;if 

  1) 2 × 11𝐶7 + 10𝐶8  2) 11𝐶7 + 10𝐶8    3) 12𝐶8 − 10𝐶6  4) 10𝐶6 + 2!   
12. ehd;F ,izahd NfhLfspd; njhFg;ghdJ %d;W ,izahd NfhLfisf; nfhz;l kw;nwhU 

njhFg;ig ntl;Lk;NghJ cUthFk; ,izfuq;fspd; vz;zpf;if 
  1) 6    2) 9     3) 12    4) 18 
13. Xh; miwapy; cs;s xt;nthUtUk; kw;wtUld; iff;FYf;Ffpwhh;fs;. 66 iff;FYf;fy; 

epfo;fpd;wJ vdpy;, me;j miwapy; cs;s egh;fspd; vz;zpf;if 
  1) 11    2) 12    3) 10    4) 6  
14. 44 %iytpl;lq;fs; cs;s xU gyNfhzj;jpd; gf;fq;fspd; vz;zpf;if 

  1) 4    2) 4!    3) 11    4) 22 
15. ve;j ,uz;L NfhLfSk; ,izahf ,y;yhkYk; kw;Wk; ve;j %d;W NfhLfSk; xU Gs;spapy; 

ntl;bf;nfhs;shkYk; ,Uf;FkhW xU jsj;jpd; kPJ 10 Neh;f;NfhLfs; tiuag;gl;lhy;, NfhLfs; 
ntl;bf;nfhs;Sk; Gs;spfspd; nkhj;j vz;zpf;if 

  1) 45    2) 40    3) 10!    4) 210  

16. xU jsj;jpy; cs;s 10 Gs;spfspy; 4 Gs;spfs; xU Nfhliktd vdpy;, mtw;iw nfhz;L 
cUthf;Fk; Kf;Nfhzq;fspd; vz;zpf;if 

  1) 110    2) 10𝐶3    3) 120    4) 116 

17. 2𝑛𝐶3: 𝑛𝐶3 = 11: 1 vdpy; n-d; kjpg;G 
  1) 5    2) 6     3) 11    4) 7 

18. (𝑛 − 1)𝐶𝑟 + (𝑛 − 1)𝐶(𝑟−1) vd;gJ 

  1) (𝑛 + 1)𝐶𝑟   2) (𝑛 − 1)𝐶𝑟   3) 𝑛𝐶𝑟    4) 𝑛𝐶𝑟−1   
19. 52 rPl;Lfs; cs;s xU rPl;Lf;fl;bypUe;J Njh;e;njLf;fg;gLk; 5 rPl;Lfspy; Fiwe;jgl;rk; xU 

,uh[h rPl;L ,Uf;FkhW cs;s topfspd; vz;zpf;if 

  1) 52𝐶5    2) 48𝐶5    3) 52𝐶5 + 48𝐶5   4) 52𝐶5 − 48𝐶5 
20. xU rJuq;f ml;ilapy; cs;s nrt;tfq;fspd; vz;zpf;if 

  1) 81    2) 99    3)1296    4) 6561 
21. 2 kw;Wk; 3 ,yf;fq;fis nfhz;L cUthf;fg;gLk; 10 ,yf;f vz;fspd; vz;zpf;if 

  1) 10𝐶2 + 9𝐶2  2) 210     3) 210 − 2    4) 10!  

22. 𝑃𝑟 vd;gJ 𝑟𝑃𝑟 I Fwpj;jhy; 1 + 𝑃1 + 2𝑃2 + 3𝑃3 + ⋯ + 𝑛𝑃𝑛 vd;w njhlhpd; $Ljy; 

  1)  𝑃𝑛+1   2) 𝑃𝑛+1 − 1   3) 𝑃𝑛−1 + 1   4) (𝑛 + 1)𝑃(𝑛−1)  

23. Kjy; n xw;iw ,ay; vz;fspd; ngUf;fypd; kjpg;G 

  1) 2𝑛𝐶𝑛 × 𝑛𝑃𝑛   2) (
1

2
)𝑛 × 2𝑛𝐶𝑛 × 𝑛𝑃𝑛  3) (

1

4
)𝑛 × 2𝑛𝐶𝑛 × 2𝑛𝑃𝑛 4) 𝑛𝐶𝑛 × 𝑛𝑃𝑛  

24. 𝑛𝐶4, 𝑛𝐶5, 𝑛𝐶6 Mfpait APapy; ( $l;Lj;njhlhpy; ) cs;sd vdpy;, n-d; kjpg;G 
  1) 14    2) 11    3) 9     4) 5 

25. 1 + 3 + 5 + 7 + ⋯ + 17-d; kjpg;G 
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  1) 101    2) 81    3) 71    4) 61 

  
tpilfs; : 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 
2 2 1 2 4 2 1 4 2 2 3 4 2 3 1 4 2 3 4 3 2 2 2 1 2 

5. <UWg;Gj; Njw;wk;, njhlh;Kiwfs; kw;Wk; njhlh;fs; 

1. 2 + 4 + 6 + ⋯ + 2𝑛-d; kjpg;G 

    1) 
𝑛(𝑛−1)

2
    2) 

𝑛(𝑛+1)

2
    3) 

2𝑛(2𝑛+1)

2
    4) 𝑛(𝑛 + 1) 

2. (2 + 2𝑥)10 ,y; 𝑥6 – d; nfO 

    1) 10𝐶6    2)  26     3) 10𝐶626     4)  10𝐶6210 

3. (2𝑥 + 3𝑦)20 vd;w tphptpy; 𝑥8𝑦12 -d; nfO 

    1) 0    2)  28312    3) 28312 + 21238   4) 20𝐶828312  

4. r-d; vy;yh kjpg;Gf;Fk; 𝑛𝐶10 > 𝑛𝐶𝑟 vdpy;, n-d; kjpg;G 

   1) 10    2) 21     3) 19     4) 20 

5. ,U vz;fspd; $l;Lr;ruhrhp a kw;Wk; ngUf;Fr; ruhrhp g vdpy;, 

   1) 𝑎 ≤ 𝑔    2)  𝑎 ≥ 𝑔    3) 𝑎 = 𝑔    4) 𝑎 > 𝑔 

6. (1 + 𝑥2)2(1 + 𝑥)𝑛 = 𝑎0 + 𝑎1𝑥 + 𝑎2𝑥2+. . +𝑥𝑛+4 kw;Wk; 𝑎0, 𝑎1, 𝑎2 Mfpait $l;Lj; njhlh;Kiw 

vdpy;;, n-d; kjpg;G 

    1) 1    2) 2     3) 3     4) 4 

7. a,8,b vd;gd $l;Lj;njhlh; Kiw, a,4,b vd;gd ngUf;Fj; njhlh;Kiw kw;Wk; a,x,b vd;gd ,irj; 

njhlh;Kiw vdpy;, x- d; kjpg;G 
  1)2    2) 1     3) 4     4) 16 

8. 
1

√3
,

1

√3+√2
,

1

√3+2√2
, ….  vd;w njhlh;Kiw 

  1) $l;Lj;njhlh; Kiw    2) ngUf;Fj; njhlh;Kiw  
  3) ,irj; njhlh;Kiw    4) $l;L ngUf;Fj; njhlh;Kiw 

9. ,U kpif vz;fspd; $l;Lr; ruhrhp kw;Wk; ngUf;Fr; ruhrhp KiwNa 16 kw;Wk; 8 vdpy;, 
mtw;wpd; ,irr;ruhrhp 

  1) 10    2) 6     3) 5     4) 4  

10. nghJ tpj;jpahrk; d Mf cs;s xU $l;Lj; njhlhpd; Kjy; n cWg;Gfspd; $Ljy; 𝑆𝑛 vdpy;, 

𝑆𝑛 − 2𝑆𝑛−1 + 𝑆𝑛−2-d; kjpg;G 

  1) 0    2) 2d     3) 4d     4) 𝑑2  

11. 3815 I 13 My; tFf;ff; fpilf;Fk; kPjp  
  1) 12    2) 1     3) 11    4) 5  

12. 1,2,4,7,11, … vd;w njhlh;Kiwapd; n MtJ cWg;G 

  1) 𝑛3 + 3𝑛2 + 2𝑛  2) 𝑛3 − 3𝑛2 + 3𝑛  3) 
𝑛(𝑛+1)(𝑛+2)

3
   4) 

𝑛2−𝑛+2

2
 

13. 
1

√1+√3
+

1

√3+√5
+

1

√5+√7
+ ⋯ vd;w njhlhpd; Kjy; n  cWg;Gfspd; $Ljy; 

  1) √2𝑛 + 1   2) 
√2𝑛+1

2
    3) √2𝑛 + 1 − 1   4) 

√2𝑛+1−1

2
  

14. 
1

2
,

3

4
,

7

8
,

15

16
, … vd;w njhlh;Kiwapd; n MtJ cWg;G 

  1) 2𝑛 − 𝑛 − 1   2) 1 − 2−𝑛   3) 2−𝑛 + 𝑛 − 1   4) 2𝑛−1 

15. √2 + √8 + √18 + √32 + ⋯ vd;w njhlhpd; n  cWg;Gfspd; $Ljy; 

  1) 
𝑛(𝑛+1)

2
   2) 2𝑛(𝑛 + 1)   3) 

𝑛(𝑛+1)

2
    4) 1 

16. 
1

2
+

7

4
+

13

8
+

19

16
+ ⋯ vd;w njhlhpd; kjpg;G 

  1) 14    2) 7     3) 4     4) 6 
17. xU KbTwh ngUf;Fj; njhlhpd; kjpg;G 18 kw;Wk; mjd; Kjy; cWg;g 6 vdpy; nghJ tpfpjk; 

  1) 
1

3
    2) 

2

3
     3) 

1

6
     4) 

3

4
 

18. 𝑒−2𝑥 vd;w njhlhpy; 𝑥5-d; nfO 
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  1) 
2

3
     2) 

3

2
     3) 

−4

15
    4) 

4

15
 

 

19. 
1

2!
+

1

4!
+

1

6!
+ ⋯ -d; kjpg;G 

  1) 
𝑒2+1

2𝑒
    2) 

(𝑒+1)2

2𝑒
    3) 

(𝑒−1)2

2𝑒
    4) 

𝑒2+1

2𝑒
  

20. 1 −
1

2
(

2

3
) +

1

3
(

2

3
)2 −

1

4
(

2

3
)3 + ⋯ -d; kjpg;G 

  1) log(
5

3
)   2) 

3

2
log(

5

3
)    3) 

5

3
log(

5

3
)    4) 

2

3
log(

2

3
) 

tpilfs;: 
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 
4 4 4 4 2 3 1 3 4 1 1 4 4 2 3 2 2 3 3 2 

6. ,Ughpkhz gFKiw tbtpay; 

1. xU Gs;spf;Fk; y mr;rpw;Fk; ,ilg;gl;l J}ukhdJ, mg;Gs;spf;Fk; Mjpf;Fk; ,ilg;gl;l J}uj;jpy; 
ghjp vdpy; mg;Gs;spapd; epakg;ghij 

  1) 𝑥2 + 3𝑦2 = 0  2) 𝑥2 − 3𝑦2 = 0   3) 3𝑥2 + 𝑦2 = 0   4) 3𝑥2 − 𝑦2 = 0 

2. (𝑎𝑡2, 2𝑎𝑡) vd;w Gs;spapd; epakg;ghij 

  1) 
𝑥2

𝑎2
−

𝑦2

𝑏2
= 1  2) 

𝑥2

𝑎2
+

𝑦2

𝑏2
= 1   3) 𝑥2 + 𝑦2 = 𝑎2   4) 𝑦2 = 4𝑎𝑥 

3. 3𝑥2 + 3𝑦2 − 8𝑥 − 12𝑦 + 17 = 0 vd;w epakg;ghijapd; kPJ mike;jpUf;Fk; Gs;sp 

  1) (0,0)  2) (−2,3)    3) (1,2)    4) (0, −1) 

4. 
𝑥2

16
−

𝑦2

25
= 𝑘 vd;w epakg;ghijapd; kPJ (8, −5) vd;w Gs;sp cs;sJ vdpy;, k – d; kjpg;G 

  1) 0    2) 1    3) 2     4) 3  

5. (2,3) kw;Wk; (−1,4) vd;w Gs;spfis ,izf;Fk; Neh;f;Nfhl;bd; kPJ (𝛼, 𝛽) vd;w Gs;sp 
,Ue;jhy; 

  1) 𝛼 + 2𝛽 = 7   2) 3𝛼 + 𝛽 = 9  3) 𝛼 + 3𝛽 = 11   4) 3𝛼 + 𝛽 = 11 

6. 3𝑥 − 𝑦 = −5 vd;w Nfhl;Lld; 450 Nfhzk; Vw;gLj;Jk; Nfhl;bd; rha;Tfs; 

  1) 1, −1   2) 
1

2
, −2   3) 1,

1

2
    4) 2, −

1

2
  

7. 4 + 2√2 vd;w Rw;wsT nfhz;l Kjy; fhy; gFjpapy; Ma mr;RfSld; mikAk; ,Urkgf;f 
Kf;Nfhzj;ij cUthf;Fk; Nfhl;bd; rkd;ghL 

  1) 𝑥 + 𝑦 + 2 = 0   2) 𝑥 + 𝑦 − 2 = 0 3) 𝑥 + 𝑦 − √2 = 0  4) 𝑥 + 𝑦 + √2 = 0 

8. (−2,4), (−1,2), (1,2) kw;Wk; (2,4) vd;w thpirapy; ehw;fuj;jpd; ehd;F Kidg;Gs;spfis 

vLj;Jf; nfhs;f. xU NfhL (−1,2) vd;w Gs;sp topNa nry;fpwJ. NkYk; mJ ehw;fuj;ij 

rkgug;ghf gphpf;fpwJ vdpy;, mjd; rkd;ghL 

  1) 𝑥 + 1 = 0   2) 𝑥 + 𝑦 = 1  3) 𝑥 + 𝑦 + 3 = 0  4) 𝑥 − 𝑦 + 3 = 0 

9. (1,2) kw;Wk; (3,4) Mfpa Gs;spfis ,izf;Fk; Nfhl;Lj;Jz;bd; nrq;Fj;J 
,Urkntl;bahdJ Ma mr;RfSld; Vw;gLj;Jk; ntl;Lj; Jz;Lfs; 

  1) 5, −5   2) 5,5   3) 5,3    4) 5, −4 

10. rha;T 2 cila Nfhl;bw;F MjpapypUe;J tiuag;gLk; nrq;Fj;Jf; Nfhl;bd; ePsk; √5 vdpy;, 
mf;Nfhl;bd; rkd;ghL 

  1) 𝑥 + 2𝑦 = √5   2) 2𝑥 + 𝑦 = √5  3) 2𝑥 + 𝑦 = 5   4) 𝑥 + 2𝑦 − 5 = 0 

11. 5𝑥 − 𝑦 = 0 vd;w Nfhl;bw;Fr; nrq;Fj;Jf; NfhL Ma mr;RfSld; mikf;Fk; Kf;Nfhzj;jpd; 
gug;G 5 r.myFfs; vdpy; mf;Nfhl;bd; rkd;ghL 

  1) 𝑥 + 5𝑦 ± 5√2 = 0  2) 𝑥 − 5𝑦 ± 5√2 = 0  3) 5𝑥 + 𝑦 ± 5√2 = 0  4) 5𝑥 − 𝑦 ± 5√2 = 0 

12. 𝑥 − 𝑦 + 5 = 0 vd;w Nfhl;bw;Fr; nrq;Fj;jhfTk; 𝑦 mr;ir ntl;Lk; Gs;sp topNa  
  nry;yf;$baJkhd Neh;f;Nfhl;bd; rkd;ghL 

  1) 𝑥 − 𝑦 − 5 = 0    2) 𝑥 + 𝑦 − 5 = 0   3) 𝑥 + 𝑦 + 5 = 0   4) 𝑥 + 𝑦 + 10 = 0 

13. xU rkgf;f Kf;Nfhzj;jpd; xU Kid (2,3) kw;Wk; ,g;Gs;spf;F vjph;g;Gwk; mikAk; 

gf;fj;jpd; rkd;ghL 𝑥 + 𝑦 = 2 vdpy; gf;fj;jpd; ePsk; 

  1) √
3

2
     2) 6    3) √6    4) 3√2  
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14. 𝑝 kw;Wk; 𝑞 Mfpatw;wpd; ve;j kjpg;GfSf;Fk; (𝑝 + 2𝑞)𝑥 + (𝑝 − 3𝑞)𝑦 = 𝑝 − 𝑞 vd;w Nfhl;bd; 
kPJ mikAk; Gs;sp  

     1) (
3

2
,

5

2
)    2) (

2

5
,

2

5
)   3) (

3

5
,

3

5
)    4) (

2

5
,

3

5
) 

15. (1,2) kw;Wk; (3,4) Mfpa ,U Gs;spapypUe;J rkj; njhiytpYk;, 2𝑥 − 3𝑦 = 5 vd;w Nfhl;bd; 
kPJ mike;Js;s Gs;sp  

  1) (7,3)  2) (4,1)   3) (1, −1)    4) (−2,3)  

16. 𝑦 = −𝑥 vd;w Nfhl;bw;F (2,3) vd;w Gs;spapd; gpk;gg;Gs;sp 

  1) (−3, −2)   2) (−3,2)   3) (−2, −3)   4) (3,2)  

17. 
𝑥

3
−

𝑦

4
= 1 vd;w Nfhl;bw;F MjpapypUe;J nrq;Fj;Jj; njhiyT 

  1) 
11

5
    2) 

5

12
   3) 

12

5
    4) 

5

7
   

18. 2𝑥 − 3𝑦 + 1 = 0 vd;w Nfhl;bw;Fr; nrq;Fj;jhfTk; (1,3) vd;w Gs;sp topNa nry;Yk; 

Neh;f;Nfhl;bd; 𝑦 ntl;Lj;Jz;L 

  1) 
3

2
    2) 

9

2
    3) 

2

3
     4) 

2

9
   

19. 𝑥 + (2𝑘 − 7)𝑦 + 3 = 0 kw;Wk; 3𝑘𝑥 + 9𝑦 − 5 = 0  ,t;tpU NfhLfs; nrq;Fj;jhdit vdpy; 𝑘-
d; kjpg;G 

  1) 𝑘 = 3    2) 𝑘 =
1

3
    3) 𝑘 =

2

3
    4) 𝑘 =

3

2
 

20. xU rJuj;jpd; xU Kid MjpahfTk; kw;Wk; mjd; xU gf;fk; 4𝑥 + 3𝑦 − 20 = 0 vd;w 

Nfhl;bd; kPJk; mike;jpUe;jhy;, me;j rJuj;jpd; gug;G 
  1) 20r.m   2) 16r.m   3) 25r.m    4) 4r.m 

21. 6𝑥2 + 41𝑥𝑦 − 7𝑦2 = 0 vd;w ,ul;ilf; NfhLfs; 𝑥- mr;Rld; Vw;gLj;Jk; Nfhzq;fs; 𝛼 kw;Wk; 

𝛽 vdpy;, tan 𝛼 tan 𝛽 =?   

  1) −
6

7
    2) 

6

7
    3) −

7

6
    4) 

7

6
 

22. 𝑥2 − 4𝑦2 = 0 kw;wk; 𝑥 = 𝑎 vd;w NfhLfshy; cUthf;fg;gLk; Kf;Nfhzj;jpd; gug;G 

  1) 2𝑎2    2) 
√3

2
𝑎2   3) 

1

2
𝑎2    4) 

2

√3
𝑎2 

23. 6𝑥2 − 𝑥𝑦 + 4𝑐𝑦2 = 0 vd;w NfhLfspy; xU NfhlhdJ 3𝑥 + 4𝑦 = 0 vdpy; 𝑐 – d; kjpg;G 
  1) -3    2) -1    3) 3     4) 1  

24. 𝑥2 − 𝑥𝑦 − 6𝑦2 = 0 vd;w NfhLfSf;F ,ilg;gl;l FWq;Nfhzk; 𝜃 vdpy; 
2 cos 𝜃+3 sin 𝜃

4 sin 𝜃+5 cos 𝜃
 –d; 

kjpg;G  

  1) 1    2) −
1

9
   3) 

5

9
     4) 

1

9
  

25. 𝑥2 + 2𝑥𝑦 cot 𝜃 − 𝑦2 = 0 vd;w ,ul;il Neh;f;Nfhl;bd; rkd;ghLfspy; xU rkd;ghL 

 1) 𝑥 − 𝑦 cot 𝜃 = 0 2) 𝑥 + 𝑦 tan 𝜃 = 0 3) 𝑥 cos 𝜃 + 𝑦(sin 𝜃 + 1) = 0 4) 𝑥 sin 𝜃 + 𝑦(cos 𝜃 + 1) = 0 
tpilfs; : 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 
4 4 3 4 3 2 2 4 2 3 1 2 3 4 2 1 3 2 1 2 1 3 1 3 4 
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